12”0066 (K12n0066)

) ( Linearized knot diagam
’ 9 / 10

(’\/\ ) 3 5 6 9 2 12 10 5 11 8 6 7
, 2

\_ 1/ Solving Sequence

. > 11 » — 4 — 3 — — — — C5,Cg,Cg9,C
A knot dlagranﬂ 5,8 086’9’ 01112 s 4 s 3 P 2 e 1 Cl010 o 7 —>> C5,C6, €9, C12

Ideals for irreducible component#ﬂ)f Xpar

I = (—6.30753 x 10540 + 3.75257 x 105543 + ... 4 5.94936 x 10°7d + 2.30338 x 108,
—7.99939 x 10%°44 4 1.44181 x 10%44° + ... 4+ 2.37974 x 10%8¢ — 1.93077 x 10°?,
7.08052 x 1074440 — 1.75227 x 10753 + -+ +1.49944 x 107"b — 5.67209 x 1077,
4.57210 x 107300 — 7.88614 x 107430 + - - 4+ 1.19955 x 10"8a — 7.69341 x 1078,
utt — 200 + .- 4 5120 + 512)
I = (Pu? +d+ 2c — 2, 4u3c? + 2c%u? — 6ubc + ¢ + 10c%u — 3uc + 2u® + 2¢% — 15cu + u® — 3¢+ 5u + 1, b,
a—1, u* +u® +3u? +2u +1)

I’={a,d, c—1,b—1, vzvarl)
II={a,d=1,cta, b+1, v +v+1)
Ig={c,d—1,b,a—1,v-1)

Iy ={c, d—1, v2ba — v%b — av + ¢+ v, b2v27bv+1>

* 5 irreducible components of dim¢ = 0, with total 58 representations.
* 1 irreducible components of dim¢ = 1

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I} = (—6.31 x 10%4u%% 4 3.75 x 10%%u39 + ..
—8.00 X 10%%u*0 4 1.44 X 105432 4. .. 4+2.38 x 10%8c —1.93 x 10%?, 7.08 x
+1.50 X 10776 — 5.67 x 1077, 4.57 x 107340 —
20?0 4...+512u% +512)

1068,
1074U40

7.89 X 1075430 +...4+1.20 X 1078a — 7.69 X 1078, w4l —

—1.75 X 107%u3% + ...

(i) Arc colorings

as =

ag =

ag

ag

ag =

ai

a1 =

o (.

(+)
)

0.0000381150u*° + 0.00657423u3° + -
—0.00472210u*° 4 0.0116861u3° + -

;)

0.00336145u" —
0.00106020u" —

(o

C

(1

( 40 39
<0 .00416329u*" — 0.00348782u°° + -
(w

(

(

(

(

0.00344951u° — 0.0105481u3% + -

ud —|—u>

0.00367234u" —

0.00442165u" —
0.00106020u° —

(ii) Obstruction class = —1

(iii) Cusp Shapes = —0.00750642u*" + 0.0137245u3 + - - -

0.0000605866u3° + - - -
0.00630753u3 + - - -

0.00715345u3% + - - -
0.00428778uY — 0.00271115u + - - -

0.00367234u" — 0.00715345u%° + - - -
0.00169580u4° + 0.00233968u° + - - -

0.00488842u0 + 0.00771683u> + - - -
—0.00492654u%" + 0.0142911u3 + - - -

0.00636811u3 + - - -
0.00630753u3% + - - -

0.00158049u4 + 0.00495719u% + - - -
0.00178096u%° + 0.00501777u3° + - - -

-4 5.95 x 10%7d + 2.30 x

-+ 3.10866wu + 6.41356
— 6.53018u + 3.78280

—+6.98697u + 8.11334
—0.350233u — 3.87164

-+ 8.59128u + 4.01677
-4 5.34083u — 6.53585

+6.07641u — 1.87083
+ 7.55176u + 6.78311

+6.07641u — 1.87083
+5.67152u + 6.68520

—9.65835u + 0.696220
— 6.54969u +- 7.10978

+6.63674u + 4.24170
—0.350233u — 3.87164

+5.61614u + 8.57387
— 1.37083u 4+ 0.460536

=+ 0.520985u — 10.6626



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ utt #1204 4+ - 4 3440 — 16
C2,C5 M+ 200+ F 16u+4
€3 utt — 20t + - 4 428280u + 66564
C4,C8 utt — 2010 .. 4+ 51202 4+ 512
Cg,C11, C12 utt +8ut0 ... —8u+16
c7,C10 utt —8utl ... —8u+16
€9 u*t +10u0 + - - - 4 2080u + 256




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
a1 y* 436y + - - 4 135968y — 256
€2, C5 M 412970 ... 4 344y — 16
€3 y*™ 4 60y*° + - - + 44022633912y — 4430766096
c4,Cs y* 4+ 30y%0 4+ - — 524288y — 262144
C6,C11, C12 y* — 50y + - + 8224y — 256
c7, C1o y*t — 10y + - - - 4+ 2080y — 256
Cg y41 + 50y40 + .

— 663040y — 65536




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape

0.280189 + 0.9545811
—0.857033 + 0.8178411
—0.265899 — 0.8823241 | —1.60252 — 4.552901 | —4.51064 4 8.080011

0.46537 4 1.926401
—0.881512 — 0.4904801

U
a
b

0.280189 — 0.9545811
= —0.857033 — 0.8178411
—0.265899 4+ 0.8823241 | —1.60252 + 4.552901 | —4.51064 — 8.080011
0.46537 — 1.926401
—0.881512 + 0.4904801

0.942111 + 0.0242661
—0.224229 + 1.2446801
—0.026109 + 0.7910731 0.87865 + 4.073501 | —1.48942 — 7.361111

0.548118 + 0.1665391

0.670232 — 0.5074811

0.942111 — 0.024266.1
—0.224229 — 1.2446801
—0.026109 — 0.7910731 0.87865 — 4.073501 | —1.48942 + 7.361111

0.548118 — 0.1665391

0.670232 + 0.5074811

0.100000 + 0.8923011
—0.052177 — 0.3585771

0.118920 4 0.7482611 1.46086 + 1.422271 3.88823 — 3.839981

1.00227 — 1.092541
—0.544049 + 0.4970191

0.100000 — 0.8923011
—0.052177 + 0.3585771
= 0.118920 — 0.7482611 1.46086 — 1.422271 3.88823 + 3.839981
c= 1.00227 4 1.092541
d = —0.544049 — 0.4970197

c
d
U
a

b

¢

d
U
a

b

c
d
U
a

b
c
d
U
a

b
c
d
U
a

b




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u= 0.687957 + 0.4212291
a= 0.333750 + 0.3369151

b= 1.03088 + 1.01360I
c= 0.722058 — 0.3076461
d=0.172146 + 0.4994141

2.43397 + 0.554611

3.61478 + 1.218851

0.687957 — 0.4212291
a= 0.333750 — 0.3369151
b= 1.03088 —1.013601

c= 0.722058 + 0.3076461
d= 0.172146 — 0.4994141

u =

2.43397 — 0.554611

3.61478 — 1.218851

0.586118 + 0.4999091
a = —0.491451 + 0.6618961
b= —0.737846 + 0.8125701
0.479205 + 0.0602791
= 1.054290 — 0.2584081

—3.14860 + 0.972701

—10.27133 — 0.164931

0.586118 — 0.4999091
a = —0.491451 — 0.6618961
b= —0.737846 — 0.8125701
= 0.479205 — 0.0602791
= 1.054290 + 0.2584081

—3.14860 — 0.972701

—10.27133 4 0.164931

= —0.757570 4+ 0.0574311
= 0.31675 + 1.450501

0.104479 + 0.5454641
0.620109 + 0.1381721
0.536344 — 0.3423261

S
[

0.834104 — 1.0578601

—1.84303 — 1.721991

—0.757570 — 0.0574311
0.31675 — 1.450501
0.104479 — 0.5454641
0.620109 — 0.1381721
0.536344 + 0.3423261

QLU o o= 2 2l o
|

0.834104 + 1.0578601

—1.84303 + 1.721991




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

—0.748122 + 0.0992721
0.93330 + 1.089381
2.35626 + 2.259351
0.561796 — 0.1002091
0.725119 + 0.3077131

0.52179 — 2.813551

—3.88749 + 5.157171

—0.748122 — 0.0992721
0.93330 — 1.089381
2.35626 — 2.259351
0.561796 + 0.1002091
0.725119 — 0.3077131

>~ Q@ gl o0 oo e 8
I I

0.52179 + 2.813551

—3.88749 — 5.157171

0.004283 + 0.6526261
= —1.55282 4 0.504851
—2.68614 + 0.952271
0.461220 + 0.0003841
= 1.168160 — 0.0018071

—0.70242 — 2.369271

0.82941 + 4.597161

= 0.004283 — 0.6526261
= —1.55282 — 0.504851
= —2.68614 — 0.952271
0.461220 — 0.000384.1
1.168160 + 0.0018071

>~ Q@ £l 0 o8 g o
I

)
Il

—0.70242 + 2.369271

0.82941 — 4.597161

ISIRSY
|

0.076846 + 0.6255831
1.20268 + 1.293821
b= —0.275587 — 0.2997721
2.86920 + 1.701101
—0.742119 — 0.1528941

o
Il

—0.85500 + 1.575701

—0.179374 4 0.776646.1

0.076846 — 0.6255831
a= 1.20268 — 1.293821
b= —0.275587 + 0.2997721
c= 2.86920 — 1.701101
d = —0.742119 + 0.1528941

ISERSY
|

—0.85500 — 1.575701

—0.179374 — 0.7766461




Solutions to I}

V—1(vol + y/=1CS)

Cusp shape

0.01326 + 1.475181
—0.655430 + 0.9031431
0.71376 — 1.969321

0.270068 — 1.0422107
—0.767011 4 0.8991231

5.83509 — 1.348991

0.977007 + 0.7160141

0.01326 — 1.475181
—0.655430 — 0.9031431
0.71376 + 1.969321

0.270068 + 1.0422101
—0.767011 — 0.8991231

>~ Q@ gl o oo 8 8
1

5.83509 + 1.348991

0.977007 — 0.7160141

—0.45410 + 1.447561
0.692132 + 0.8073951
0.54174 — 2.289171

—0.073099 — 1.2521501

—1.046470 + 0.7959141

4.95290 + 7.659331

—2.00000 — 5.625621

—0.45410 — 1.447561
0.692132 — 0.8073951

= 0.54174 4+ 2.289171

c = —0.073099 + 1.2521501

d = —1.046470 — 0.7959141

>~ Q@ gl 0 o 8 gl o
Il

4.95290 — 7.659331

—2.00000 + 5.625621

u = —0.466919
a = —0.0931478
= —0.579529
c= 0.536246
d= 0.864817

—1.25610

—8.53770

u = —0.35061 + 1.536391

a = —0.902103 + 0.0918541
b= —0.136075 + 1.2124601
c= 0.001487 — 1.1578301
d = —0.998891 + 0.8636821

6.34261 + 3.421381




Solutions to I} vV—=1(vol + /=1CS) Cusp shape
u = —0.35061 — 1.536391
a = —0.902103 — 0.0918541
b= —0.136075 — 1.2124607 6.34261 — 3.421381 0
c= 0.001487 4 1.1578301
d = —0.998891 — 0.8636821
u= 0.51610 + 1.496551
a = —1.048210 — 0.1184107
b= —0.199107 — 1.232920I | 5.66064 — 9.735221 0. + 7.050497
¢ = —0.132300 + 1.2108907
d = —1.089170 — 0.8160981
u= 0.51610 — 1.496551
= —1.048210 4+ 0.1184107
= —0.199107 + 1.2329207 | 5.66064 + 9.735221 0. — 7.050491
¢ = —0.132300 — 1.2108907
d = —1.089170 + 0.8160981
u=1.62020 + 0.130771
= —0.040113 — 0.9413401
b= 0.59368 — 2.038061 8.89854 + 0.190051 0
c= 0422272 4 0.2135621
d= 0.885797 — 0.9537341
uw= 1.62020 —0.130771
= —0.040113 + 0.9413401
b= 0.59368 4 2.038061 8.89854 — 0.190051 0
= 0.422272 — 0.2135621
d=0.885797 + 0.9537341
u = —1.59450 + 0.330271
a = —0.066671 + 1.0135701
b= 0.54013 + 2.151521 8.54414 — 6.614541 0
c= 0416106 — 0.1877341
d= 10.996781 + 0.9008871




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —1.59450 — 0.330271
—0.066671 — 1.0135701
0.54013 — 2.151521
0.416106 + 0.1877341
0.996781 — 0.9008871

8.54414 + 6.614541

0.23388 + 1.652761
—0.028955 — 0.5739851
0.54769 + 2.083241

0.052963 + 1.0478601
—0.951888 — 0.9518931

>~ Q@ 2l o0 o8 8
I I

9.70458 — 3.478531

0.23388 — 1.652761
= —0.028955 + 0.5739851
0.54769 — 2.083241

0.052963 — 1.0478601
—0.951888 + 0.9518931

9.70458 + 3.478531

—0.86658 + 1.510281
1.022730 — 0.2133207
= 0.25996 — 2.323161
—0.410043 — 1.1269801
—1.28510 + 0.783591

>~ Q@ 2|2 0 o 2 gl o

ISP
Il

12.2320 + 15.14901

u = —0.86658 — 1.510281
a= 1.022730 + 0.2133201
b= 0.25996 + 2.323161
¢ = —0.410043 + 1.1269801
d = —1.28510 — 0.783591

12.2320 — 15.14901

u= 0.78943 + 1.612511
0.798911 + 0.0897271
b= 0.30028 + 2.265291
¢ = —0.326045 + 1.0830601
d = —1.25486 — 0.846591

13.5026 — 8.65551
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Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.78943 — 1.612511

0.798911 — 0.0897271

0.30028 — 2.265291
—0.326045 — 1.0830601
—1.25486 + 0.846591

13.5026 + 8.65551

0.64330 + 1.727581
—0.985622 — 0.1482691
0.50633 — 1.680691

0.289772 — 0.6917361
—0.484819 4 1.2298301

> Q@ 2l o oo 8 8
| [

14.7932 — 7.99451

0.64330 — 1.727581
= —0.985622 + 0.1482691
0.50633 + 1.680691

0.289772 + 0.6917361
—0.484819 — 1.2298301

14.7932 + 7.99451

—0.48873 4 1.823491
= —0.848856 + 0.0427621
= 0.50243 + 1.746791
c= 0.241355+ 0.7336671
d = —0.595396 — 1.2299107

> Q@ £l o oo 2 gl o
I

15.6167 + 1.26571

u = —0.48873 — 1.823491
a = —0.848856 — 0.0427621
b= 0.50243 — 1.746791
c= 0.241355 — 0.7336671
d = —0.595396 + 1.2299107

15.6167 — 1.26571

11



II.
I¥ = (u+d+2c—2, 4uc®*—6uc+---—3c+1, b, a—1, u*+ud+3u?+2u+1)

(i) Arc colorings

o ()

1
ag = 0
1
ag = 0
1
ag = u2
c
a11 = \ —c2uy? — 2¢+2
—u? —c+2
a12 = \ —c2y?2 — 2¢+2
u
a4: u3+u
ud + 2u
as = ud +u
ud + 2u
az = \w?+u?+2u+1
—u? -1
a1: _u2
—Fu—c+2
a10 = \ —c2u? — 2¢+2

A +ulc+3¢c—2
ar = \ w2 +u2c+2c—2

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® — 4u? — 12u — 6

12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C4,C8 (u* +u® + 3u? + 2u + 1)3
2, Cs (u* +u? +u? +1)3
3 (u* — u? + 5u? +u + 2)*
C6,C7,C10 U1274U10+"‘*2U+1
C11,C12
9 u? +8utt + - —10u+1

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C4,C8 (v + 59> + 7Y% + 2y +1)3
C2,Cs (y'+9° +3y* +2y+1)3
€3 (y* +9y° + 31y* + 19y + 4)®
Cg,C7,C10 y12 78y11 Jr.”JrlOerl
C11,C12
9 Yyt =8yt 4+ T8y + 1

14



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

—0.395123 4 0.5068441
1.00000
0
0.937473 4+ 0.3637291
—0.072869 — 0.3597161

>~ & =
([

—0.21101 + 1.415101

—1.82674 — 4.908741

—0.395123 + 0.5068441
1.00000
0
0.477428 — 0.0369311
1.082100 + 0.1610581

—0.21101 + 1.415101

—1.82674 — 4.908741

—0.395123 + 0.5068441
1.00000
0
—0.23342 — 5.022921
—1.009230 + 0.1986591

—0.21101 + 1.415101

—1.82674 — 4.908741

—0.395123 — 0.5068441
1.00000
0
0.937473 — 0.3637291
—0.072869 + 0.3597161

—0.21101 — 1.415101

—1.82674 4 4.908741

—0.395123 — 0.5068441
1.00000
0
0.477428 4+ 0.0369311
1.082100 — 0.1610581

—0.21101 — 1.415101

—1.82674 + 4.908741

—0.395123 — 0.5068441
1.00000
0
c = —0.23342 + 5.022921
d = —1.009230 — 0.1986591

> Q@ gl 0 o8 gl o9 gl o8 gl o glao
Il

—0.21101 — 1.415101

—1.82674 4 4.908741

15



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

—0.10488 + 1.552491
1.00000
0
0.266059 + 0.9581531
—0.730940 — 0.9689631

6.79074 + 3.163961

1.82674 — 2.564801

—0.10488 4 1.552491
1.00000
0
0.166080 — 1.0618301
—0.856215 4 0.9192821

>~ Q@ gl o o8 8
o Il

6.79074 + 3.163961

1.82674 — 2.564801

= —0.10488 + 1.552491
1.00000

0
0.386383 — 0.0074201
1.58715 + 0.049681

6.79074 + 3.163961

1.82674 — 2.564801

—0.10488 — 1.552491
1.00000
0
0.266059 — 0.9581531
—0.730940 + 0.9689631

QL o0 o Q9 22 0 o8 gl o
[ | | I

6.79074 — 3.163961

1.82674 + 2.564801

u = —0.10488 — 1.552497

a = 1.00000

b= 0

c= 0.166080 + 1.0618301
d = —0.856215 — 0.9192821

6.79074 — 3.163961

1.82674 + 2.564801

u = —0.10488 — 1.552491
1.00000

b= 0

c= 0.386383 + 0.0074201

d= 1.58715 — 0.049681

6.79074 — 3.163961

1.82674 + 2.564801

16



1. 1y = {a, d, c—1, b—1, v?* —v 4+ 1)

(i) Arc colorings

o (0)

ag —

ag =

(ii) Obstruction class =1

(iii) Cusp Shapes =4v +1

17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
2 1
c1,C3,Cs u° —u+
Co 2 1
u” 4+ u+
C4,C7,C8 U2
Cg, C10
6 (u+1)?
2
C11,C12 (u—1)

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 y2+y+1
Cs
C4,C7,C8 y2
Cy, C10
—1)2
C6,C11, C12 (y )

19



(vi) Complex Volumes and Cusp Shapes

Solutions to I7

V=1 (vol + y=1CS)

Cusp shape

v = 0.500000 + 0.8660257

a= 0

b= 1.00000 1.64493 — 2.029881 3.00000 + 3.464101
c= 1.00000

d= 0

v 0.500000 — 0.8660251

a= 0

b= 1.00000 1.64493 + 2.029881 3.00000 — 3.464101
c= 1.00000

d= 0

20



IV.I =(a,d—1, c+a, b+1, v2+v+1)

(i) Arc colorings

o (0)

ag —

ag =

(ii) Obstruction class =1

(iii) Cusp Shapes = —4v — 11

21



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2 1
c1,C3,Cs u° —u+
€2 u? +u41
C4,Cg, C8 U2
C11,C12
2
C7,Cg (u — 1)
2
Cc10 (u + 1)

22



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
61762363 y2+y+1
Cs
C4,Cg, C8 y2
C11,C12
—1)2
7, C9, C10 (y—1)

23



(vi) Complex Volumes and Cusp Shapes

Solutions to I V—1(vol + v/—1CS) Cusp shape
v = —0.500000 + 0.8660251
a= 0
b = —1.00000 —1.64493 4 2.029881 | —9.00000 — 3.464101
c= 0
d= 1.00000
v = —0.500000 — 0.8660251
a= 0
b = —1.00000 —1.64493 — 2.029881 | —9.00000 + 3.464101
c= 0
d = 1.00000

24



V.I =(c,d—1,b,a—1, v—1)

(i) Arc colorings

o= (o)

. )
o ()
o )
o ()
()
o )
. ()
o )
o )
()
o (%)

(ii) Obstruction class =1

(iii) Cusp Shapes =0

25



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,C
1,¢2,€3 "
C4,Cs5,Cg
Cg,C7,Co u—1
€10, C11, C12 u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 Yy
C4,Cs5,Cg
Ce, C7,C9 Y — 1

€10, C11, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ v/—1(vol ++1/—1CS8) | Cusp shape
v = 1.00000
a = 1.00000
b= 0 0 0
c= 0
d = 1.00000
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VL I} = (¢, d — 1, v®ba — v?b — av + ¢ + v, b*v® —bv + 1)

(i) Arc colorings

o (0)

ag —

ag =

v
ag = 0
—bv+wv
ag = —b%v
v2b — by
az = —b%y

(ii) Obstruction class = —1

(iii) Cusp Shapes = —b%v + 4bv + v2 — 4

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.
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(iv) Complex Volumes and Cusp Shapes

Solution to I} | +/—1(vol++/—1CS) Cusp shape
’l} = e e e
a = e e s
b= —2.029881 | —0.70149 + 4.986681
c—
d =
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VII. u-Polynomials

Crossings u-Polynomials at each crossing
c1 u(u? —u+1)2(u* +u® 4+ 3u® + 2u+1)3
(w4 120 + - 4 344u — 16)
€2 w(u? +u+1)2(u* +u +u? + 13w + 200 + -+ 16u + 4)
cs u(u? —u+1)2(u* —u® + 5u? +u +2)3
S(u = 200 4 - 4 428280u + 66564)
C4,C8 u® (ut 4+ u? 4 3u? + 2u + 1)3 (u — 20 + - + 5120 4 512)
Cs w(u? —u+1)2(u* +u +u? + 13w + 200 + -+ 16u + 4)
6 w?(u—1)(u+1)%(w'? —4u'® 4+ = 2u + 1) (™ +8u* + - — 8u + 16)
7 w?(u—1)3(u'? — 40" + - = 2u+ 1) (u* — 8u® 4 - — 8u + 16)
Co u?(u— 12w 4+ 8u 4 - — 10u + 1)
(u™ 4 10u® + - -+ 2080u + 256)
10 w?(u+1)3(u'? — 40" + - = 2u + 1)(u*! — 8u® 4 - — 8u + 16)
€11, C12 w?(u—1)%(u+1)(u'? —4u® + - — 2u + D)(u*t 4+ 8u®® + - — Su + 16)
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VIII. Riley Polynomials

Crossings Riley Polynomials at each crossing
e v +y+ D+ 5y + Ty + 2y +1)°
Sy + 36y + - - + 135968y — 256)
c2,C5 y(* +y+ 1%+’ + 307 + 2y +1)°
Syt +124% + - 4 344y — 16)
c3 y(y? +y+ 1)%(y* +9y° + 31y% + 19y + 4)°
(y™ 4 60y10 + - - - + 44022633912y — 4430766096)
Ca, Cs vyt + 5y e 2y 1P (" 3050 4 - — 524288y — 262144)
2 37,12 11
€6, C11, C12 yly—1(y " =8y +---+10y+1)
(™ = 50" + - 4 8224y — 256)
2 37,12 11
€7, €10 yly—1°(" =8y +-+10y+1)
] (y41 — 10y + - - - + 2080y — 256)
¢ P ly—1° " =8y + - = T8y +1)
(y* + 50y 4 - - — 663040y — 65536)
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